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Fill in the blanks :

@ 2000m = 2 km @ 60cm= 600 mm

@ 1500cm = 15 m @ 8m= 8300 cm

® 3km= 3000 m ® 13000mm = 13 m

@ 2%km345m = 2345 m 3700m = 3 km 700 m
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Measuring :

® — 13 ER 0 #4 1 J& K
_ mm, about cm
- mm, about— cm
- mm, about—— —  cm
- mm, about —— cm
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Fill “km” , “m” , “em” or “mm” in the blanks :
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The length of the East Rail Line is about 34 _km |

—ABERAHR2_ER -
A Mathematics textbook is about 28 cm long.
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A smartphone is about 7 mm thick.
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Answer according to the figure :
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Route I: Starting from P and going d1rectly to R, what is
the distance travelled in m ?

T84 = hPH A > QIR XA S n? @_6200m
Route II: Starting from P and going to R via Q, what is
the distance travelled in m ?

T34 =, : BPHAE > &SER> £A S Skn? @_ 6km
Route III: Starting from P and going to R via S, what is
the distance travelled in km ?

REkMBRILFAHBEE S Vkn? @ lkm
How much longer is the longest route than the shortest one
in km ?

©2020 SO-IN Education Group Ltd.



